

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 3, 2020

Progress Estimate Number	Contract ID	200117-H02	Pay Period Start	t April 16, 2020	Original Contract Amount \$6,775,000.00	
3	Prime Contracto	r Pace Construction Company	, LLC Pay Period End	• •	Net Change Order Amount \$105,234.38 Current Contract Amount \$6,880,234.38	

Approval Date		By User
May 4, 2020	Generated and Approved (and should be considered Draft) at the Project Office Level by	FERGUJ1
May 4, 2020	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	PULLIA
May 5, 2020	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete				
November 1, 2020	November 1, 2020		21.39%				

No Milestones Exist for Contract

Contract Total Pay For Estimate No. 3											
		This Estimate	Previous	To Date							
200117-H02											
	Total Posted Items Pay	\$488,783.26	\$983,116.34	\$1,471,899.60							
	Gross Item Adjustments	\$745.42	(\$17,829.56)	(\$17,084.14)							
	Incentive	\$0.00	\$0.00	\$0.00							
	Disincentive	\$0.00	\$0.00	\$0.00							
	Liquidated Damage	\$0.00	\$0.00	\$0.00							
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00							
			\$965,286.78	\$1,454,815.46							
Contract Total Pa	yable This Estimate:	\$489,528.68									

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount		
J9P3370	0040	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$65.000	2,630	\$170,950.00		
	0050	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	TONS	\$59.000	3,857.2	\$227,574.80		
	0060	4071005	TACK COAT	GAL	\$2.270	8,928	\$20,266.56		
	0210	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$1.850	25,464	\$47,108.40		
Project J9	P3370 - To	tal					\$465,899.76		
J9S3445	0860	4091048	EMULSIFIED ASPHALT, SEAL COAT	GAL	\$4.000	860	\$3,440.00		
	0870	4094021	SEAL COAT AGGREGATE, GRADE C	SQYD	\$4.500	2,365	\$10,642.50		
	0940	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	LF	\$6.000	98	\$588.00		
	0950	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	LF	\$23.000	36	\$828.00		
	1010	9028500	CABLE, LOOP DETECTOR, IN DUCT	LF	\$3.500	2,110	\$7,385.00		
Project J9S3445 - Total									
Overall - T	otal						\$488 783 26		

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item	Adjust	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3370	0040	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Other Item Adjustment	Asphalt Cement Price Adjustment				\$473.40
	0050	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Other Item Adjustment	Asphalt Cement Price Adjustment				\$713.58
J9S3445	0810	MISC.	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-1.3	\$17.00	(\$22.10)

Revision 4/1/2020 Page 1 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 3, 2020

Progress Estimate Number	Contract ID 200117-H02	Pay Period Start April 16, 2020 Original Contract Amount \$6,775,000.00
3	Prime Contractor Pace Construction Compan	y, LLC Pay Period End May 1, 2020 Net Change Order Amount \$105,234.38
· ·		Current Contract Amount \$6,880,234.38

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
	0860	EMULSIFIED ASPHALT, SEAL COAT	Other Item Adjustment	Asphalt Cement Price Adjustment				\$12.54
	0870	SEAL COAT AGGREGATE, GRADE C	Material			-2,365	\$4.50	(\$10,642.50)
	0870	SEAL COAT AGGREGATE, GRADE C	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0003) due to user ferguj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	2,365	\$4.50	\$10,642.50
	0880	BITUMINOUS FOG SEAL	Overrun	n Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).		-90	\$4.80	(\$432.00)
Total								\$745.42

Revision 4/1/2020 Page 2 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Information						
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work					
J9P3370	FAF 63-2(60)	Resurface	63	TEXAS	from Cleveland Road to	o Route U						
J9P3426	FAF 60-3(98)	Resurface	60	SHANNON	from east of Rte. J to County Road 455							
J9S3415	FAS- S703(068)	Pavement Improvements	F	TEXAS	from Route 63 to the en	n Route 63 to the end of state maintenance						
J9S3440	FAS S702(85)	Resurface	BUS 63	HOWELL	from 0.6 mile south of F	rom 0.6 mile south of Rte. 63 to 0.8 mile north of Rte. 60 in Willow Springs						
J9S3445	FAS S702(86)	Resurface	BUS 60	TEXAS	from Rte. 63 to Rte. 60							
J9S3531	FAS S702(90)	Resurface	BUS 60	HOWELL	from Bus. 63 to Rte. 60) in Willow Springs						
Totals by J	Job Number	s										
Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments					This Estimate \$465,899.76 \$1,186.98 \$467,086.74 \$0.00 \$0.00 \$0.00 \$0.00	Previous \$242,652.40 (\$610.15) \$242,042.25 \$0.00 \$0.00 \$0.00 \$0.00	To Date \$708,552.16 \$576.83 \$709,128.99 \$0.00 \$0.00 \$0.00 \$0.00					
J9P3426	Incention Disince Liquida	ve	Gross Ite	em Pay	This Estimate \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	Previous \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	To Date \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00					
J9S3415	Posted	Item Pay item Adjustment		em Pay	This Estimate \$0.00 \$0.00 \$0.00	Previous \$89,891.94 (\$11,202.23) \$78,689.71	To Date \$89,891.94 (\$11,202.23) \$78,689.71					
			nents		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					
J9S3440		Item Pay tem Adjustment	s Gross Ite	em Pay	This Estimate \$0.00 \$0.00 \$0.00	Previous \$0.00 \$0.00 \$0.00	To Date \$0.00 \$0.00 \$0.00					
			nents		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					
J9S3445		Item Pay tem Adjustment	s Gross Ite	em Pay	This Estimate \$22,883.50 (\$441.56) \$22,441.94	Previous \$650,572.00 (\$6,017.18) \$644,554.82	To Date \$673,455.50 (\$6,458.74) \$666,996.76					
Incentive Disincentive Liquidated Damages Other Contract Adjustments					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					
J9S3531	Gross I		s Gross Ite	em Pay	This Estimate \$0.00 \$0.00 \$0.00	Previous \$0.00 \$0.00 \$0.00	To Date \$0.00 \$0.00 \$0.00					
Incentive Disincentive Liquidated Damages Other Contract Adjustments					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					

Revision 4/1/2020 Page 3 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9S3445, Item 4094021, Project Item Line Number 0870, Material Set 409402196, Material 1003GC - Aggregate for Seal Coat Grade C, Acceptance Action Generic 1003GC is insufficient.	Material is ok. Pending report.	FERGUJ1	Overridden
Estimate Exception Type: Item Overrun: Contract 200117-H02, Contract Project J9P3370, Project Item Line Number 0090, Contract Line Item Number 0090, Item 6161005, Minor Item.	No Remark was entered by Engineer	FERGUJ1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200117-H02, Contract Project J9P3370, Project Item Line Number 0110, Contract Line Item Number 0110, Item 6161025, Minor Item.	No Remark was entered by Engineer	FERGUJ1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200117-H02, Contract Project J9S3445, Project Item Line Number 0810, Contract Line Item Number 0810, Item 3049910, Minor Item.	No Remark was entered by Engineer	FERGUJ1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200117-H02, Contract Project J9S3445, Project Item Line Number 0850, Contract Line Item Number 0850, Item 4071005, Minor Item.	No Remark was entered by Engineer	FERGUJ1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200117-H02, Contract Project J9S3445, Project Item Line Number 0880, Contract Line Item Number 0880, Item 4134000, Minor Item.	No Remark was entered by Engineer	FERGUJ1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200117-H02, Contract Project J9S3445, Project Item Line Number 0910, Contract Line Item Number 0910, Item 6161009, Minor Item.	No Remark was entered by Engineer	FERGUJ1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200117-H02, Contract Project J9S3415, Project Item Line Number 0510, Contract Line Item Number 0510, Item 4011211, Minor Item.	No Remark was entered by Engineer	FERGUJ1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200117-H02, Contract Project J9S3415, Project Item Line Number 0520, Contract Line Item Number 0520, Item 4071005, Minor Item.	No Remark was entered by Engineer	FERGUJ1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200117-H02, Contract Project J9S3415, Project Item Line Number 0550, Contract Line Item Number 0550, Item 6161009, Minor Item.	No Remark was entered by Engineer	FERGUJ1	Acknowledged

Revision 4/1/2020 Page 4 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)	
200117-H02	J9P3370	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$34,057.98	\$0.00	
		0001	0020	2159903	MISC.Modified Shaping Slopes, Class III	245.00	0.00	245.00	LF	0.00	\$14.62	\$0.00	
		0001	0030	3105003	GRAVEL (A) OR CRUSHED STONE (B)	89.00	0.00	89.00	SQYD	0.00	\$55.00	\$0.00	
		0001	0040	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	12,237.20	0.00	12,237.20	TONS	5,425.50	\$65.00	\$352,657.50	
		0001	0050	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	28,053.40	0.00	28,053.40	TONS	5,784.50	\$59.00	\$341,285.50	
		0001	0060	4071005	TACK COAT	28,123.00	0.00	28,123.00	GAL	16,109.00	\$2.27	\$36,567.43	
		0001	0070	4139905	MISC.high friction surface treatment	20,356.00	0.00	20,356.00	SQYD	0.00	\$16.45	\$0.00	
		0001	0800	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00	
		0001	0090	6161005	CONSTRUCTION SIGNS	2,741.00	0.00	2,741.00	SQFT	2,773.00	\$6.00	\$16,446.00	
		0001	0100	6161009	FLAG ASSEMBLY	13.00	0.00	13.00	EA	13.00	\$20.00	\$260.00	
		0001	0110	6161025	CHANNELIZER (TRIM LINE)	160.00	0.00	160.00	EA	200.00	\$20.00	\$3,200.00	
		0001	0120	6161040	FLASHING ARROW PANEL	4.00	0.00	4.00	EA	2.00	\$850.00	\$1,700.00	
		0001	0130	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,000.00	\$6,000.00	
	0		0001	0140	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.75	\$150,000.00	\$112,500.00
		0001	0150	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	24.00	0.00	24.00	EA	0.00	\$300.00	\$0.00	
		0001	0160	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	4.00	0.00	4.00	EA	0.00	\$500.00	\$0.00	
		0001	0170	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	246,563.00	0.00	246,563.00	LF	0.00	\$0.17	\$0.00	
		0001	0180	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	143,708.00	0.00	143,708.00	LF	0.00	\$0.22	\$0.00	
		0001	0190	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	3,751.00	0.00	3,751.00	LF	0.00	\$2.00	\$0.00	
		0001	0200	6209901	MISC.temporary pavement marking	1.00	0.00	1.00	LS	0.00	\$0.00	\$0.00	
		0001	0210	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	55,371.00	0.00	55,371.00	SQYD	41,136.00	\$1.85	\$76,101.60	
		0001	0220	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	8,549.00	0.00	8,549.00	SQYD	0.00	\$2.90	\$0.00	
		0001	0230	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	813.00	0.00	813.00	STA	0.00	\$20.40	\$0.00	
		0001	0240	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	1,086.00	0.00	1,086.00	STA	0.00	\$21.00	\$0.00	
		0010	0250	6061060	MGS GUARDRAIL	963.00	0.00	963.00	LF	0.00	\$20.50	\$0.00	
		0010	0260	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	3,763.00	0.00	3,763.00	LF	0.00	\$22.95	\$0.00	
		0010	0270	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	4.00	0.00	4.00	EA	0.00	\$2,725.00	\$0.00	
		0010	0280	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	0.00	\$2,675.00	\$0.00	
		0010	0290	6061081	MGS BRIDGE APPROACH TRANSITION (THRIE-BEAM BRIDGE)	4.00	0.00	4.00	EA	0.00	\$2,950.00	\$0.00	
		0010	0300	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	22.00	0.00	22.00	EA	0.00	\$2,675.00	\$0.00	
		0001	5001	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	0.00	4.00	4.00	EA	0.00	\$2,526.00	\$0.00	
		0001	5002	9031220	PIPE POSTS	0.00	120.00	120.00	LB	0.00	\$8.93	\$0.00	
		0001	5003	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	0.00	12.00	12.00	LF	0.00	\$50.99	\$0.00	
		0001	5004	9031010	CONCRETE FOOTINGS, EMBEDDED	0.00	1.00	1.00	CUYD	0.00	\$2,331.00	\$0.00	
	Project J	P3370 - To	tal Value	Posted to D	ate as of Report Generated Date							\$946,718.03	
	J9P3426	0001	0310	3105003	GRAVEL (A) OR CRUSHED STONE (B)	43.00	0.00	43.00	SQYD	0.00	\$45.00	\$0.00	
		0001	0320	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	5,405.70	0.00	5,405.70	TONS	1,617.40	\$67.00	\$108,365.80	
		0001	0330	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	16,589.40	0.00	16,589.40	TONS	0.00	\$55.50	\$0.00	
		0001	0340	4071005	TACK COAT	17,009.00	0.00	17,009.00	GAL	1,938.00	\$2.17	\$4,205.46	
		0001	0350	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00	
		0001	0360	6161005	CONSTRUCTION SIGNS	799.00	0.00	799.00	SQFT	0.00	\$6.00	\$0.00	
		0001	0370	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	0.00	\$35.00	\$0.00	
		0001	0380	6161009	FLAG ASSEMBLY	8.00	0.00	8.00	EA	0.00	\$20.00	\$0.00	
		0001	0390	6161025	CHANNELIZER (TRIM LINE)	230.00	0.00	230.00	EA	0.00	\$18.00	\$0.00	

Revision 4/1/2020 Page 5 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted amo	Bid Quantity	Net Change	Total Current	Unit	Total Posted	Unit Price	Total Value POSTED To Date (See report
						,	Order	Quantity		Approved Qty		generated date)
00117-H02	J9P3426	0001	0400	6161033	DIRECTIONAL INDICATOR BARRICADE	44.00	0.00	44.00	EA	0.00	\$55.00	\$0.00
		0001	0410	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$750.00	\$0.00
		0001	0420	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	0.00	\$2,500.00	\$0.00
		0001	0430	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$110,000.00	\$0.00
		0001	0440	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	69,319.00	0.00	69,319.00	LF	0.00	\$0.22	\$0.00
		0001	0450	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	49,204.00	0.00	49,204.00	LF	0.00	\$0.22	\$0.00
		0001	0460	6209901	MISC.temporay pavement marking	1.00	0.00	1.00	LS	0.00	\$0.00	\$0.00
		0001	0470	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	18,313.00	0.00	18,313.00	SQYD	14,404.00	\$2.65	\$38,170.60
		0001	0480	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	6,062.00	0.00	6,062.00	SQYD	2,968.10	\$3.55	\$10,536.76
		0001	0490	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	880.70	0.00	880.70	STA	0.00	\$20.65	\$0.00
		0001	5101	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	0.00	4.00	4.00	EA	0.00	\$2,526.00	\$0.00
	Project J	9P3426 - To	otal Value	Posted to E	Date as of Report Generated Date							\$161,278.62
	J9S3415	0001	0500	3105002	GRAVEL (A) OR CRUSHED STONE (B)	10.00	0.00	10.00	TONS	0.00	\$52.00	\$0.00
		0001	0510	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	416.00	0.00	416.00	TONS	526.90	\$88.15	\$36,670.40
		0001	0520	4071005	TACK COAT	372.00	0.00	372.00	GAL	686.00	\$2.75	\$1,023.00
		0001	0530	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$250.00	\$500.00
		0001	0540	6161005	CONSTRUCTION SIGNS	1,501.00	0.00	1,501.00	SQFT	422.00	\$6.00	\$2,532.00
		0001	0550	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	6.00	\$20.00	\$80.00
		0001	0560	6161025	CHANNELIZER (TRIM LINE)	50.00	0.00	50.00	EA	50.00	\$18.00	\$900.00
		0001	0570	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$18,000.00	\$18,000.00
		0001	0580	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	1.00	0.00	1.00	EA	1.00	\$300.00	\$300.00
		0001	0590	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	80.00	0.00	80.00	LF	80.00	\$10.00	\$800.00
		0001	0600	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	3,115.00	0.00	3,115.00	LF	3,115.00	\$1.00	\$3,115.00
		0001	0610	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	4,634.00	0.00	4,634.00	SQYD	4,634.00	\$3.30	\$15,292.20
	Project J	S3415 - To	otal Value	Posted to D	Date as of Report Generated Date							\$79,212.60
	J9S3440	0001	0620	2129900	MISC.Shoulder Grading	104.00	0.00	104.00	100F	0.00	\$120.00	\$0.00
		0001	0630	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	2,065.00	0.00	2,065.00	SQYD	0.00	\$2.80	\$0.00
		0001	0640	3105002	GRAVEL (A) OR CRUSHED STONE (B)	34.00	0.00	34.00	TONS	0.00	\$55.00	\$0.00
		0001	0650	4011207	BITUMINOUS PAVEMENT MIXTURE PG70-22, (BP-1)	6,654.80	0.00	6,654.80	TONS	0.00	\$67.00	\$0.00
		0001	0660	4019905	MISC.Optional Shoulder Base	4,618.20	0.00	4,618.20	SQYD	0.00	\$14.50	\$0.00
		0001	0670	4071005	TACK COAT	5,109.00	0.00	5,109.00	GAL	0.00	\$2.30	\$0.00
		0001	0680	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00
		0001	0690	6161005	CONSTRUCTION SIGNS	2,001.00	0.00	2,001.00	SQFT	0.00	\$6.00	\$0.00
		0001	0700	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	0.00	\$20.00	\$0.00
		0001	0710	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	0.00	\$18.00	\$0.00
		0001	0720	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$60,000.00	\$0.00
		0001	0730	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	400.00	0.00	400.00	LF	0.00	\$6.00	\$0.00
		0001	0740	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	48.00	0.00	48.00	LF	0.00	\$23.00	\$0.00
		0001	0750	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	6.00	0.00	6.00	EA	0.00	\$300.00	\$0.00
		0001	0760	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	9,008.00	0.00	9,008.00	LF	0.00	\$0.11	\$0.00
		0001	0770	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	34,178.00	0.00	34,178.00	LF	0.00	\$0.11	\$0.00
		0001	0780	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	20,050.00	0.00	20,050.00	SQYD	0.00	\$2.35	\$0.00
		0001	0790	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,844.00	0.00	1,844.00	SQYD	0.00	\$7.25	\$0.00
	Project J	9S3440 - To	otal Value	Posted to D	Date as of Report Generated Date							\$0.00

Revision 4/1/2020 Page 6 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See report generated date)
17-H02	J9S3445	0001	0800	2129900	MISC.SHOULDER GRADING	182.00	0.00	182.00	100F	182.00	\$125.00	\$22,750.0
		0001	0810	3049910	MISC.PERM AGG EDGE TREATMENT	36.00	0.00	36.00	TONS	37.30	\$17.00	\$612.
		0001	0820	3105002	GRAVEL (A) OR CRUSHED STONE (B)	27.00	0.00	27.00	TONS	0.00	\$43.00	\$0.
		0001	0830	4011207	BITUMINOUS PAVEMENT MIXTURE PG70-22, (BP-1)	5,909.40	0.00	5,909.40	TONS	5,433.00	\$64.00	\$347,712.
		0001	0840	4019905	MISC.OPTIONAL SHOULDER BASE	4,153.60	3,951.80	8,105.40	SQYD	8,105.40	\$20.50	\$166,160.
		0001	0850	4071005	TACK COAT	3,823.00	0.00	3,823.00	GAL	6,365.00	\$2.37	\$9,060.
		0001	0860	4091048	EMULSIFIED ASPHALT, SEAL COAT	899.00	0.00	899.00	GAL	860.00	\$4.00	\$3,440.
		0001	0870	4094021	SEAL COAT AGGREGATE, GRADE C	2,365.00	0.00	2,365.00	SQYD	2,365.00	\$4.50	\$10,642.
		0001	0880	4134000	BITUMINOUS FOG SEAL	110.00	0.00	110.00	GAL	200.00	\$4.80	\$528.
		0001	0890	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$500.00	\$1,000.
		0001	0900	6161005	CONSTRUCTION SIGNS	1,942.00	0.00	1,942.00	SQFT	1,557.00	\$6.00	\$9,342.
		0001	0910	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	10.00	\$20.00	\$80.
		0001	0920	6161025	CHANNELIZER (TRIM LINE)	50.00	0.00	50.00	EA	50.00	\$18.00	\$900
		0001	0930	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$80,000.00	\$40,000
		0001	0940	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, $ 6 \text{IN}. $ WHITE	504.00	0.00	504.00	LF	338.00	\$6.00	\$2,028
		0001	0950	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	88.00	0.00	88.00	LF	88.00	\$23.00	\$2,024
		0001	0960	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	6.00	0.00	6.00	EA	6.00	\$300.00	\$1,800
		0001	0970	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	28,460.00	0.00	28,460.00	LF	28,460.00	\$0.11	\$3,130
		0001	0980	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	26,027.00	0.00	26,027.00	LF	26,027.00	\$0.11	\$2,862
	0001 0990 622100				COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	16,873.00	0.00	16,873.00	SQYD	8,922.00	\$2.95	\$26,319
		0001	1000	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,972.00	0.00	1,972.00	SQYD	1,335.10	\$6.80	\$9,078
		0030	1010	9028500	CABLE, LOOP DETECTOR, IN DUCT	2,110.00	0.00	2,110.00	LF	2,110.00	\$3.50	\$7,385
		S3445 - To			ate as of Report Generated Date							\$666,856
	J9S3531	0001	1020	2129900	MISC.SHOULDER GRADING	4.00	0.00	4.00	100F	0.00	\$500.00	\$0
		0001	1030	3040163	TYPE 1 AGGREGATE FOR BASE (6 IN. THICK)	221.00	0.00	221.00	SQYD	0.00	\$31.00	\$0
		0001	1040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	2.00	0.00	2.00	TONS	0.00	\$145.00	\$0
		0001	1050	4011207	BITUMINOUS PAVEMENT MIXTURE PG70-22, (BP-1)	87.90	0.00	87.90	TONS	0.00	\$118.00	\$0
		0001	1060	4019905	MISC.OPTIONAL SHOULDER BASE	352.70	0.00	352.70	SQYD	0.00	\$20.50	\$0
		0001	1070	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	2,103.30	0.00	2,103.30	TONS	0.00	\$66.00	\$0
			4000	4071005	TACK COAT	2,731.00	0.00	2,731.00	GAL	0.00	\$2.10	\$0
		0001	1080									00
		0001	1090	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0
				6123000A 6161005	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS	2.00	0.00	2.00	EA SQFT	0.00	\$6.00	
		0001	1090									\$0
		0001	1090 1100	6161005	CONSTRUCTION SIGNS	802.00	0.00	802.00	SQFT	0.00	\$6.00	\$0 \$0
		0001 0001 0001	1090 1100 1110	6161005 6161009	CONSTRUCTION SIGNS FLAG ASSEMBLY	802.00	0.00	802.00	SQFT EA	0.00	\$6.00 \$20.00	\$0 \$0 \$0
		0001 0001 0001 0001	1090 1100 1110 1120	6161005 6161009 6161025	CONSTRUCTION SIGNS FLAG ASSEMBLY CHANNELIZER (TRIM LINE)	802.00 4.00 40.00	0.00 0.00 0.00	802.00 4.00 40.00	SQFT EA EA	0.00 0.00 0.00	\$6.00 \$20.00 \$18.00	\$0 \$0 \$0
		0001 0001 0001 0001 0001	1090 1100 1110 1120 1130	6161005 6161009 6161025 6181000	CONSTRUCTION SIGNS FLAG ASSEMBLY CHANNELIZER (TRIM LINE) MOBILIZATION 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	802.00 4.00 40.00 1.00	0.00 0.00 0.00	4.00 40.00 1.00	SQFT EA EA LS	0.00 0.00 0.00 0.00	\$6.00 \$20.00 \$18.00 \$15,000.00	\$0 \$0 \$0 \$0
		0001 0001 0001 0001 0001 0001	1090 1100 1110 1120 1130 1140	6161005 6161009 6161025 6181000 6206000C	CONSTRUCTION SIGNS FLAG ASSEMBLY CHANNELIZER (TRIM LINE) MOBILIZATION 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	802.00 4.00 40.00 1.00 16,347.00	0.00 0.00 0.00 0.00	802.00 4.00 40.00 1.00 16,347.00	SQFT EA EA LS LF	0.00 0.00 0.00 0.00	\$6.00 \$20.00 \$18.00 \$15,000.00 \$0.12	\$0 \$0 \$0 \$0 \$0
		0001 0001 0001 0001 0001 0001	1090 11100 11110 1120 1130 1140	6161005 6161009 6161025 6181000 6206000C 6206001C	CONSTRUCTION SIGNS FLAG ASSEMBLY CHANNELIZER (TRIM LINE) MOBILIZATION 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF	802.00 4.00 40.00 1.00 16,347.00 14,953.00	0.00 0.00 0.00 0.00 0.00	802.00 4.00 40.00 1.00 16,347.00 14,953.00	SQFT EA EA LS LF	0.00 0.00 0.00 0.00 0.00	\$6.00 \$20.00 \$18.00 \$15,000.00 \$0.12	\$0. \$0. \$0. \$0. \$0. \$0.

Revision 4/1/2020 Page 7 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9P3370

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0040	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	4/16/20	4/23/20	614.10	TONS	Rte 63	1909+59		1859+60		
			4/17/20	4/23/20	588.40	TONS	Rte 63	1859+60		1639+40		
			4/18/20	4/23/20	397.50	TONS	Rte 63	1778+10		1639+40		
			4/28/20	5/3/20	249.80	TONS		1990+00	2032+00			
			4/30/20	5/3/20	527.20	TONS	Rte 63	2256+44		2139+94		
			5/1/20	5/3/20	253.00	TONS	Rte 63	2256+44		2161+30		
0050	050 4030103 ASP	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP1	4/28/20	5/3/20	487.00	TONS		1990+00	2032+00			
			4/30/20	5/3/20	1,613.80	TONS	Rte 63	2256+44		2139+94		
			5/1/20	5/3/20	1,756.40	TONS	Rte 63	2256+44		2161+30		
0060	4071005	TACK COAT	4/16/20	4/23/20	1,322.00	GAL	Rte 63	1909+59		1859+60		
			4/17/20	4/23/20	1,126.00	GAL	Rte 63	1859+60		1639+40		
			4/18/20	4/23/20	686.00	GAL	Rte 63	1778+10		1639+40		
			4/28/20	5/3/20	1,120.00	GAL		1990+00	2032+00			
			4/30/20	5/3/20	2,532.00	GAL	Rte 63	2256+44		2139+94		
			5/1/20	5/3/20	2,142.00	GAL	Rte 63	2256+44		2161+30		
0210	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	4/16/20	4/23/20	5,875.00	SQYD	Rte 63	1909+59		1859+60		
			4/17/20	4/23/20	5,566.00	SQYD	Rte 63	1859+60		1639+40		
			4/18/20	4/23/20	14,023.00	SQYD	Rte 63	1778+10		1639+40		

Project: J9S3445

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0860	4091048	EMULSIFIED ASPHALT, SEAL COAT	4/30/20	5/3/20	860.00	GAL		2.320		2.608		
0870	4094021	SEAL COAT AGGREGATE, GRADE C	4/30/20	5/3/20	2,365.00	SQYD	Bus 60	2.320		2.608		
0940	6200009	PREF THERMO PAVMT MARKING, 6 IN WHITE	5/1/20	5/3/20	98.00	LF	Bus Rte 60	2.606				
0950	6200015	PREF THERMO PVMT MARK, 24 IN WHIT	5/1/20	5/3/20	36.00	LF	Bus Rte 60	3.239				
1010	9028500	CABLE, LOOP DETECTOR, IN DUCT	4/17/20	4/23/20	292.00	LF	Eastbound through Lane	2.657				
				4/23/20	292.00	LF	Westbound Through Lane	2.676	0			
				4/23/20	332.00	LF	Westbound Left Turn Lane	2.676				
			4/27/20	5/3/20	332.00	LF	WB Left Turn	2.676				
				5/3/20	420.00	LF	Elm Street					
				5/3/20	442.00	LF	Rte 181					

The information below this line are details from Line Item agency views. No Agency View Details Exist

Revision 4/1/2020 Page 8 of 12



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0040	BIT. PAVEMENT MIXTURE PG64-22	Other Item Adjustment	ACAD	2	Apr 16, 2020	FERGUJ1	\$381.85	
	(BP-1)			3	May 4, 2020	FERGUJ1	\$473.40	
			ACAD - Tota	al			\$855.25	
		Other Item	Adjustment -	Total			\$855.25	
0040 -	Total						\$855.25	
0050	ASPHALTIC CONCRETE MIXTURE	Other Item Adjustment	ACAD	3	May 4, 2020	FERGUJ1	\$713.58	
	PG 70-22 (SP1		ACAD - Tota	al			\$713.58	
		Other Item	Adjustment -	Total			\$713.58	
0050 -	Total						\$713.58	
0090	CONSTRUCTION SIGNS	Overrun	Overrun	2	Apr 16, 2020	SYSTEM	(\$192.00)	
			Overrun - T	otal			(\$192.00)	
		Overrun - T	otal				(\$192.00)	
0090 -	Total						(\$192.00)	
0110	CHANNELIZER (TRIM LINE)	Overrun	Overrun		Apr 16, 2020	SYSTEM	(\$800.00)	
			Overrun - T	otal			(\$800.00)	
		Overrun - T	otal				(\$800.00)	
0110 -							(\$800.00)	
0510	BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	Other Item Adjustment	ACAD		Apr 16, 2020	FERGUJ1	\$100.11	
	,		ACAD - Tota				\$100.11	
			Adjustment -				\$100.11	
		Overrun	Overrun		Apr 16, 2020	SYSTEM	(\$9,775.84)	
			Overrun - T	otal			(\$9,775.84)	
		Overrun - T	otal				(\$9,775.84)	
0510 -						0)/0==1/	(\$9,675.73)	
0520	TACK COAT	Overrun	Overrun		Apr 16, 2020	SYSTEM	(\$863.50)	
		Oversus	Overrun - To	Otal			(\$863.50)	
0520	Total	Overrun - T	Otal				(\$863.50)	
0520 -		0,46=====	0	2	An= 10	SYSTEM	(\$863.50)	
0550	FLAG ASSEMBLY	Overrun	Overrun - To		Apr 16, 2020	STOLEM	(\$40.00)	
		Overrun - T		otai			(\$40.00)	
0550 -	Total						(\$40.00)	
0580	PREF THERMO PVMT MARK, LT/RT ARROW	Material		2	Apr 16, 2020	SYSTEM	(\$300.00)	
				2	Apr 16, 2020	SYSTEM	\$300.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user ferguj1 overridding Payment Estimate Exception 7 on
								the current Payment Estimate.
			- Total				\$0.00	
0.500	T-101	Material - T	otal				\$0.00	
0580 -				0		0) (2==	\$0.00	
0590	4 IN. WHITE WATERBORNE PAVEMENT MARKING	Material		2	Apr 16, 2020	SYSTEM	(\$800.00)	This adjustment effects the crisinal austern granted Quartum Payment Fall and the
					Apr 16, 2020	SYSTEM	\$800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user ferguj1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
			- Total				\$0.00	
		Material - T	otal				\$0.00	
0590 -	Total						\$0.00	
0600	4 IN. YELLOW	Material		2	Apr 16,	SYSTEM	(\$3,115.00)	
D	on 4/1/2020							Page 0 of 11

Revision 4/1/2020 Page 9 of 12



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks		
0600	WATERBORNE	Material			2020					
	PAVEMENT MARKING			2	Apr 16, 2020	SYSTEM	\$3,115.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user ferguj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.		
			- Total				\$0.00			
		Material - To	otal				\$0.00			
		Other Item Adjustment	PPPS	2	Apr 16, 2020	FERGUJ1	(\$623.00)	Reduce payment to 80% pending retro-reflectivity testing.		
			PPPS - Tota				(\$623.00)			
		Other Item	Adjustment -	Total			(\$623.00)			
0600 -	Total						(\$623.00)			
0810	MISC. AGGREGATE FOR BASE	Material		2	Apr 16, 2020	SYSTEM	(\$634.10)			
				2	Apr 16, 2020	SYSTEM	\$634.10	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user ferguj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.		
			- Total				\$0.00			
		Material - To	otal				\$0.00			
		Overrun	Overrun	2	Apr 16, 2020	SYSTEM	(\$22.10)			
				2	Apr 16, 2020	SYSTEM	\$22.10	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) overridding Payment Estimate Exception 18 on the current Payment Estimate.		
				3	May 3, 2020	SYSTEM	(\$22.10)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).		
			Overrun - T	otal			(\$22.10)			
		Overrun - T	otal				(\$22.10)			
0810 -	Total						(\$22.10)			
0830	BIT. PAVEMENT MIXTURE PG70-22 (BP-1)	Other Item Adjustment			ACAD	1	Apr 2, 2020	FERGUJ1	\$753.54	AC Adjustment for BP1 20-25 4073.2 tons
	(51 1)			2	Apr 16, 2020	FERGUJ1	\$251.56			
			ACAD - Tota	al			\$1,005.10			
		Other Item	Adjustment -	Total			\$1,005.10			
0830 -	Total						\$1,005.10			
0840	MISC.	Other Item Adjustment	ACAD	2020		FERGUJ1	\$320.97	AC Adjustment for BP1 20-24 8105.4 sq yds		
				ACAD - Total			\$320.97			
		Other Item	Adjustment -	Total			\$320.97			
0840 -							\$320.97			
0850	TACK COAT	Overrun	Overrun		Apr 2, 2020	SYSTEM	(\$2,078.49)			
			O	2	Apr 16, 2020	SYSTEM	(\$3,946.05)			
		Out of the second	Overrun - T	otai			(\$6,024.54)			
0050	Total	Overrun - T	otai				(\$6,024.54)			
0850 -		Oth ''	4045	0	Mar. 4	FEDCUL	(\$6,024.54)			
0860	EMULSIFIED ASPHALT, SEAL COAT	Other Item Adjustment	ACAD Total		May 4, 2020	FERGUJ1	\$12.54			
		Other	ACAD - Total				\$12.54			
0000	Table	Other Item /	Adjustment -	Total			\$12.54			
0860 - 0870		Material		3	May 3, 2020	SYSTEM	\$12.54 (\$10,642.50)			
	C C			3	May 4, 2020	SYSTEM	\$10,642.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user ferguj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.		
			- Total				\$0.00			
		Material - To	otal				\$0.00			

Revision 4/1/2020 Page 10 of 12



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
2.110	Securption	Туре	Adjustment Type		Date	By	, anount	· Condition
0870 -	Total						\$0.00	
0880	BITUMINOUS FOG SEAL	Material		2	Apr 16, 2020	SYSTEM	(\$960.00)	
				2	Apr 16, 2020	SYSTEM	\$960.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user ferguj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
		Material - T	otal				\$0.00	
		Overrun	Overrun	2	Apr 16, 2020	SYSTEM	(\$432.00)	
				2	Apr 16, 2020	SYSTEM	\$432.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) overridding Payment Estimate Exception 20 on the current Payment Estimate.
				3	May 3, 2020	SYSTEM	(\$432.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
			Overrun - To	otal			(\$432.00)	
		Overrun - T	otal				(\$432.00)	
0880 -	Total						(\$432.00)	
0910	FLAG ASSEMBLY	Overrun	Overrun	1	Apr 2, 2020	SYSTEM	(\$120.00)	
			Overrun - To	otal			(\$120.00)	
		Overrun - T	otal				(\$120.00)	
0910 -	Total						(\$120.00)	
0940	PREF THERMO PAVMT MARKING, 6	Material		2	Apr 16, 2020	SYSTEM	(\$1,440.00)	
	IN WHITE			2	Apr 16, 2020	SYSTEM	\$1,440.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user ferguj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
			- Total				\$0.00	
		Material - T	otal				\$0.00	
0940 -	Total						\$0.00	
0950	PREF THERMO PVMT MARK, 24 IN WHIT	Material		2	Apr 16, 2020	SYSTEM	(\$1,196.00)	
				2	Apr 16, 2020	SYSTEM	\$1,196.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user ferguj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
			- Total				\$0.00	
		Material - T	otal				\$0.00	
0950 -	Total						\$0.00	
0960	PREF THERMO PVMT MARK, LT/RT ARROW	Material		2	Apr 16, 2020	SYSTEM	(\$1,800.00)	
				2	Apr 16, 2020	SYSTEM	\$1,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user ferguj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
			- Total				\$0.00	
		Material - T	otal				\$0.00	
0960 -	Total						\$0.00	
0970	4 IN. WHITE WATERBORNE PAVEMENT MARKING	Material		2	Apr 16, 2020	SYSTEM	(\$3,130.60)	
	FAVEINIEN I MAKKING			2 Apr 16, 2020		SYSTEM	\$3,130.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user ferguj1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
			- Total				\$0.00	
		Material - T	otal				\$0.00	
		Other Item Adjustment	PPPS	2	Apr 16, 2020	FERGUJ1	(\$626.12)	Reduce payment to 80% pending retro-reflectivity testing.
			PPPS - Tota	ıl			(\$626.12)	
		Other Item	Adjustment -	Total			(\$626.12)	
0970 -	Total						(\$626.12)	
0980	4 IN. YELLOW WATERBORNE	Material		2	Apr 16, 2020	SYSTEM	(\$2,862.97)	
Davisia	on 4/1/2020							Page 11 of 1

Revision 4/1/2020 Page 11 of 12



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0980	PAVEMENT MARKING	Material		2	Apr 16, 2020	SYSTEM	\$2,862.97	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0019) due to user ferguj1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
			- Total				\$0.00	
		Material - To	otal				\$0.00	
		Other Item Adjustment	PPPS	2	Apr 16, 2020	FERGUJ1	(\$572.59)	Reduce payment to 80% pending retro-reflectivity testing.
			PPPS - Tota	ıl			(\$572.59)	
		Other Item /	Adjustment -	Total			(\$572.59)	
0980 - Total							(\$572.59)	
Overall - Total							(\$17,084.14)	

Revision 4/1/2020 Page 12 of 12